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ﬁrﬁ. gg &2tNo. ﬁ?ggﬂ; BA:ZZI7 ﬁ@gﬁﬁﬁ% R%E:ZZIT
=18 2818 3[E8 1EB 2@ B 3mEBE
1 4 1.0 7.170 0.6 7.176 0.6
' BE(ECEL) BE(ECEL)
2 4 1.0 7.330 0.1 7.322 0.2
' BE(ECEL) BE(ECEL)
3 4 1.0 6.908 1.3 6.908 1.3
' BE(ECEL) B2
4 4 1.0 7.501 0.3 7.505 0.3
' BE(ECEL) BE(ECEL)
5 6 7.580 7.531 7.342 0.6 0.4 0.1 7.491 0.3
BE(ECRL) | BE(ECEN) | BR(EIEW) BE(ECEL)
6 6 6.613 7.462 7.505 21 0.2 0.3 7.491 0.3
EoLL  |AR(ECEL)|BR(ECREL) BE(ECEL)
7 6 7.176 7.204 7.322 0.6 0.5 0.2 7.230 0.4
BE(ECRL) | BE(ECEN) | BR(EIEL) BE(ECEL)
8 8 7.309 7.367 6.940 0.2 0.0 1.2 7.242 0.4
BR(ECREV)|BEECEY)| @®E BE(ECEL)
9 8 6. 851 6.836 7.279 15 15 0.3 7. 041 0.9
B2 B2 |mEECREW) BE(ECEL)
10 12 7.431 7.398 7.491 0.1 0.0 0.3 7. 442 0.2
BREECRL)| BE  |BEECEW) BE(ECEL)
1" 14 14.0 8.079 8.079 8. 041 1.9 1.9 1.8 8.079 1.9
R R R R
12 15 14.0 7.708 0.9 7.708 0.9
1.0 BE(ECEL) BE(ECEL)
13 15 7.307 0.2 7.307 0.2
BE(ECEL) BE(ECEL)
14 15 7.354 0.1 7.354 0.1
BE(ECEL) BE(ECEL)
15 21 7.072 7.070 7.000 0.9 0.9 11 7.071 0.9
BR(ECEV)|BEECEY)| @®E BE(ECEL)
16 21 7.059 7.130 7.088 0.9 0.7 0.8 7.093 0.8
BE(ECRL) | BE(ECEN) | BR(EIEW) BE(ECEL)
17 21 7.031 6.957 7.021 1.0 1.2 1.0 7.026 1.0
BREECREL)|  BE  |BEECEW) BE(ECEL)
18 21 7. 045 7.039 7.063 0.9 0.9 09 7. 041 0.9
BE(ECELN) | BE(ECEN) | BR(EICEL) BE(ECEL)
2 || gose| T 7.079 7.079 07 08 038 7.079 0.8
03 BE(ECRL) | BE(ECEN) | BR(EICEW) BE(ECEL)
032, 7. 204 7.146 7176 05 07 06 7.176 0.6
BE(ECRLN) | BE(ECEN) | BR(EIEW) BE(ECEL)
21 35 EE 7.869 1.4 7.851 1.3
B2 B2
22 35 7.623 0.7 6.934 1.2
2EI8 BE(EIZEL) B2
23 35 7.991 1.7 7. 681 0.8
SER BE BE(EIZEL)
24 36 7.114 6. 748 6.851 0.7 1.8 15 7.716 0.9
BRECRY)| BE B2 BE(ECEL)
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2915 | s 7.455 7.491 7. 602 02 03 06 7.519 0.4
WE(EICRV)| BR(ECR)| BR(EIRL) WE(EIRL)
30 56 M~3 7.301 7.690 7.556 0.2 09 0.5 7. 544 0.5
WE(EICRV)| BR(ECR)| BR(EIRL) WE(EIRL)
3160 | peg 7.099 7.412 0. 000 08 01 205 7.283 0.3
WE(EICRV)| BR(ECRL)|  FEE WE(EICRL)
2| 66 7562 05 7.562 0.5
WE(EIRL) WE(EIRL)
3| 66 7574 05 7.580 0.6
WE(EIRL) WE(EICRL)
3 | 66 7.525 04 7.525 0.4
WE(EIRL) WE(EIRL)
3 | 66 7.9 16 7.914 15
WE WE
36 [ 907 |, gugo| 7703 7.712 7. 681 09 09 08 7.699 0.9
o WE(EICRV)| BR(ECR)| BR(EICRL) WE(EIRL)
37 | 907 1.0~3.0 7.246 7.365 1.331 04 0.0 0.1 1.317 0.2
o WE(EICRV)| BR(ECR)| BR(EIRL) WE(EIRL)
E RS N R 7.328 7.199 03 0.1 05 7.229 04
o WE(EICRV)| BR(ECR)| BR(EIRL) WE(EIRL)
9 [832] 7.740 7. 681 7.531 10 08 04 7.663 08
WE(EICRV)| BR(EICRL)| BR(EICRL) WE(EIRL)
40 | 47-1 7.079 7.041 7.041 0.8 09 09 7. 041 0.9
WE(EICRV)| BR(ECR)| BR(EIRL) WE(EIRL)
41 | 47-2 A~C 7.041 7.000 6. 892 0.9 1.1 14 6. 982 1.1
BE(ECRW|  @E WE WE
42 | 47-3 7.505 7.591 7.663 0.3 0.6 0.8 7.591 0.6
WE(EICRV)| BRE(ECRL)| BR(EIRL) WE(EICRL)
43 | 47-4 1.0 1.146 1.204 1.204 0.7 0.5 0.5 7.176 0.6
' WE(EICRV)| BR(ECR)| BR(EIRL) WE(EICRL)
44 | 47-4 2.0 7.255 7.279 1. 146 0.3 0.3 0.7 7.230 04
' WE(EICRV)| BR(ECR)| BR(EIRL) WE(EIRL)
45 | 23-1 1.431 1.447 7.491 0.1 0.2 0.3 1. 462 0.2
WE(EICRV)| BRE(ECRL)| BR(EICRL) WE(EIRL)
46 | 23-1 1.0~3.0 1.415 1.672 7.996 0.1 0.8 1.7 1. 756 1.0
o WE(ECRV| BR(ECRL)|  #E WE(EIRL)
47 | 23-2 | 23-2-D~ 7.623 7.748 7.813 0.7 1.0 1.2 1.732 1.0
® BR(EICRV)|BR(EICRLY)| &R BE(EICRL)
48 | 23-3 6. 898 7.663 1.279 1.3 0.8 0.3 7.519 0.4
WE | MR(ECRW)|AR(ECRLY) RME(EICRL)
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0 BE BE AR BE
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RR(ECELY)| BB BE BE
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